10.

Technological investmentin the UKis seen as slow behind otherforms of investmentin the
UK. Roboticsis one area that may become particularly usefulin the future forincreasing UK
manufacturing competitiveness, medical advances, and more. Howeverin the USA,
technological investmentis 10 timesthanthe UK, and is 5 times as much in China. Funding
for engineersand developersinthe UKis neededtoallowthemtodevelop theirideasinthe
UK. On the otherhand, aerospace investmentinthe UKis at its highest since the early
1960’s, and issecond only to the USA. Thislevel of investmentin the robotics industry could
ensure that the UK makes the most of itsintellectual capacity. Some families feelthe
recoveryis occurringas more and more extradisposable income is becoming available.
Howeverother people are notfeeling these same effects as theirliving standards are
droppingas the economy recovers.

Anticipate 3 measuresinthis budgetand show how they will affect the economy. Reflect on
growth, unemployment and deficit/debtin particular

In the 2014 budget measurestosupporta steady economicrecovery may be setout, such as
arisein taxrates forthe wealthyin orderto help costs of living of the poorer, andto help
reduce the budget deficit. Also, workplace savings schemes may be bettered asthe BBA are
requesting, sothatitiseasierforemployeestosave regularly. In addition, the Chancellor
may increase taxes on alcohol/cigarettesin orderto decrease demand and reduce the
extent of the externalities caused by excessive drinkingand smoking. \L

Homework — Report on this year’s budget. Identifythe mai \r@ng:’and theirlikely
effect on the economy, linking to indicator. 7unemploymentand
deficit/debtespecially ﬂ

The 2014 BLu:I d'&&egto hep bwlﬁ% @&economyformakers doersand
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sav Ex’a s inth g‘g form of arisein the 40% income tax
P g om £41,450 to pril,andthentorise by another 1% to £42,285. Also

alcohol duty will rise with inflations, except duty of scotch whiskey and ordinary cider —
which has beenfrozen. Beerduty will howeverbe cut by another 1%. Duty on tobacco will
continue torise at 2% above inflationin the next parliament. These changesin taxes will be
likely toleadtoa reductioninconsumption for some alcoholic products due to tax increases.
Alsotheincrease inthe income tax 40% threshold will make the incometax system fairerfor
some top earners as the tax burden will be evident on less people, and therefore the risk of
40% income tax becomingthe base rate isreduced.

Savingsregulations have been amended so thatthe tax free limitforISA’s has been
increased to £15,000, which may increase incentives for saving by consumers. Furthermore,
tax restrictions on access to pension funds have beenremoved so people have access to
theirmoney, and also have accessto impartial advice. These changes may help the UK
economy to become more sustainable because savingis being encouraged, however may
leadto growth slowdown if consumer spendingis altered too much.

With respectto property andinfrastructure - The Help to Buy scheme hasbeen extended to
2020 rather than previously being settoendin 2016. $140 million hasbeenaddedtothe
budgetforflood repairs, which will help to return the UK to its formerinfrastructural state



